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BACHELOR'S DEGREE PROGRAMME 
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June, 2016 	 00029 
ELECTIVE COURSE : ECONOMICS 

EEC-12 : INDIAN ECONOMIC DEVELOPMENT 
SINCE INDEPENDENCE 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instructions 
given under each section. 

SECTION - A 

Answer any two of the following questions : 
2x20=40 

1. "Foreign political domination during 18th and 19th 
centuries led to a rapid destruction of the Indian 
economy leading to poverty and degradation 
beyond measure". Discuss. 

2. How is unemployment measured in India ? 
Discuss briefly the nature and status of 
employment in India. 

3. Briefly account for low levels of agricultural 
productivity in India. Can bigger farms have 
better productivity than small farms ? Explain. 
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4. Account for the factors that make the service 
sector an engine of growth in the Indian economy. 
Also examine how far is the service sector-led 
growth sustainable. 

SECTION - B 
Answer any four of the following questions. 

4x12=48 
5. What do you understand by the term 'Carrying 

Capacity ' ? In the context of sustainable 
development, how can 'Carrying Capacity' be 
enhanced ? 

6. Briefly explain how the objectives of economic 
reforms and that of Social Justice can be 
simultaneously realised ? 

7. How is poverty measured ? Mention its causes. 

8. Explain the concept and importance of 
'Infrastructure' for Indian economy. 

9. Write a note on the need and importance of 
having good industrial relations in India. 

10. Discuss the rationale for export promotion in 
India. 

SECTION - C 
11. Distinguish between any two of the following : 

2x6=12 
(a) Wage - employment and self - employment. 
(b) Tiny units and small enterprises. 
(c) Export promotion and import substitution. 
(d) Corporate tax and income tax 
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